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GENERAL, APTITUDE

1. Right to Education to all children between the age of 6 to 14 years is
A) A Statutory Right i) A Fundamental Right
C) Included in the Directive Principles of State Policy D) None of these

2.  An electric fuse is based on

&) The heating effect of the current B) The chemical effect of the current
C) The magnetic effect of the current D) None of these
' 3. The paid servant of the East India Company were
; - A) Seth B) Mamlatdar C) Gomastha , jP)-Lambardar
4. By which of the following bile is secreted in human digestive system?
5 A) Pancreas @ Liver &} Kidney D) Stomach
- 5. How many times has Financial Emergency been declared in India so far?
A) 5 times B) 4 times C) Once D) Never
E 6 ~ An element common to all acid is
g. 1‘ ,r) A) Chlorine B) Nitrogen \GrOxygen D) Hydrogen
7. Non-metalic minerals are found in

A) Igneous rocks B) Metamorphic rocks ~ C) Sedimentary rocks D) All of the above

~ 8. Amino acid is formed by decomposition of which component of our diet?
 A)Carbohydrate _B) Starch C) Protein D) Fat

ammnﬂ Ayurveda Day is observed on '
’A’{IZ‘(}M - B) 16" October C) 28" October D) 30" October

: ’ﬁm&'ﬂte'%mld's leading iron-ore producer
B) Russxa C) France D) India

% :

. A_ : mﬁcﬂ LCM (p, q) is:

B)p Cq LP) pq

ok C) 30° D) 90°
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1@.3 ...is the first negative term?

" o100 D) 12%
| OAB=AC D) AB > AC
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31.  Least count of vernier caliper in metric systey,
A) 0.001 mm B)0.01 mm \"'E_)"b—,oz mm D) 0.05 mm

32.  Which of the following is not the angle measuripg device
M) Angle plate B) Sine bar 5 C) Bevel protector D) Angle gauge

33. Expressing a dimension as 18.3 +0.0, -0.1 mm jg (¢ case of
A) Unilateral tolerance ) Bilateral tolerance C) Limiting dimension D) None of the above

34, The zeroerrorofa micrometer is +0.001mm. ¢ will be the reading of micrometer to measure 0.715 mm

Ao A)0.716 mm J3) 0.714 mm €)0.717 mm D) 0.713 mm
X 35, Taper ring gauge is used for
2 A) Checking inside taper \BY Checking outside aper C) Measuring inside taper D) Measuring out taper
N o :
‘38"35 The morse taper is denoted by the letter m.T. it js available from
1‘.%:’ A) MTO to MT4 B) MTO0 to MTs ) MTO0 to MT6 D) MTO to MT7
it
: i. 37.  SWG is used for measurement of
i‘ % 5 A') 'mpe of thread B) Pitch of the thread C) Length of wire D) Thickness of sheet
ERp T :
b = ’-‘S%t - Property by whlch metal can be drawn in the form of wires, without failure is known as:
F= 09 A) Mallé’ab‘lhty - B) Toughness _©) Ductility D) Elasticity
By

3 y Converhng uf metal into sheet this property is called
: A)\Plﬂd&cﬂ:?h B) Ductility C) Elasticity JP) Malleability

: QPR L

pe of thread is oxygen cylinder regulator has

B) Left hand C) Double start 1D) Right hand
tmm: of oentre drill
B) Facing tool L) Continuatiﬂon drill bit D) Tool heard

ving is ferrous metal:

?Mummmm .O) Cast Iron D) Lead
nd netylm mi[w.ted for gas welding is ;
' i C)1:3 D)2:1

. it (& O hexagonal bolts D) Eye bolt
B)Hexagonal bolt  C) T- bolt D) Hook bolt
2 £
B Nut-bolt D) Forging
the electrode is called -
| C) Slag D Flux
5
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D) Die and clmnoe

) C |

Ma

ximum diameter of drill i

|

) Maximum spindle travel
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63. Files are specified by
A) Length
B) Length and shape
tP}Length, shape and type of cut D) Type of cut

64, Select the type of file for filing an Aluminum job
A) Single cut file B) Second cut file C) Bastard cut file ) Rasp cut file

65. Square files are used for filing
A) Round shape job B) Flat shape job C) Triangular shape job 27 Square shape job

66. Broken tap is removed by the help of
A) Pin B) Chisel C) Hammer ~¥) Stud extractor

67. Metal used for making face plate
A) Carbon steel B) Tool steel C) Wrought iron .DS Cast iron

68. The colour of the cast iron is
A) white ‘Q) Red \OrBlack D) Yellow

69. The surface speed of vitrified bond wheel is
A) 1990 RPM B) 2090 RPM C) 1530 RPM UD')’ZIOO RPM

70. Angle of the angle plate is
A) 30 degree B) 45 degree C) 60 degree I 90 degree

71. Find the temporary joint from the following
A) Welded joint JB) Riveted joint C) Soldered joint D) Press fit joint

| 72. Grinding wheel in good condition makes the
Kk A) Flat sound B) Dull sound C) Ringing sound ) Disable sound

'[- ~ 73. The other name of the feeler gauge is known as ‘
ArGap gauge B) Clearance gauge C) Profile gauge D) Thickness gauge

In a small hole gauge to check the minimum size a hole is

A) 3.8 mm B) 3.5 mm C) 3.6 mm D) None of above
4 The alloy containing more than 2% iron is known as
ROSE. A) Mild Steel _JB) Cast iron C) High speed steel D) Low alloy steel
- 5
~ Pigironis:

‘.-v" § ‘ﬁm form ofiron  B) 90% pure form of iron  C) 95% pure form of iron D) 99.9% pure form of iron

?iﬂﬁ out ﬂwlap drill size the apply formula is to be

s ﬁ) m,p % 0.8 B) Tap size=D % 8 &) Drill size = T-2d D) Drill size = T-2dp
s J"r R TST
,g‘. ‘The movable jaw of a bench vice is not moving even though the spmdle is turned. It is due to
% A) Fixed and movable jaws are over tight =~B) Spindle pin is broken
54  C)Spring is not functioning D) Threads on spindle are slightly wom out
1391_17 (A) 7
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Point then the sum of tﬁe two anglw/th‘l_i_s; rmed is equal to |
-~ ©)360 degree D) 145 degree

J-

~ B) small objects
+J?) none of these

C) Alloy steel A cast steel

i

inc D) None of these.
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